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SEMMOME | EMmES | 74040408 BT % \ JEH (1) =2 | PR (S El— T H
) SENMO TiRICHEET S SUERIHRA
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5 R 4 ﬁqé){ ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 Tﬁﬁﬁg\%zg;k‘?u ‘(.%r‘n%< jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁ*ﬁb\(?)d)tt% jj(gi;tnié X 4 Lﬁﬁh\(i)ont% z.%r‘n? jn(gifn?)é
; 100kN/m#%#825| 1.00 | 0.00 ~ 369 159.86 |3m&xBZB| 0.00 ~ 217|599 21.33 | 100kN/m##Z% | 1.00 | 10565 ~ 6427 159.86 |3mE#BZB| 25.00 ~ 64.27 | 3.99 21.33
ZznLst 1.00 | 369 ~ 1148 100.00 | =N | 217 ~ 11.48] 5.00 16.05 Zzh st 1.00 | 5.00 ~ 10.55 100.00 | #nLst | 65,00 ~ 2500 3.00 16.056
2 100kN/m## 25| 1.00 | 000 ~ 344| 15530 |3mEBZB| 000 ~ 204|389 20.84 | 100kN/m%#8Z5% | 1.00 | 1067 ~ 5826 155.30 |3mZERBZS| 3000 ~ 5826 3.89 20.84
Zhnst 1.00 | 344 ~ 1122 100.00 | TN | 204 ~ 1122| 3.00 16.05 Zzh st 1.00 | 5.00 ~ 1067 100.00 | TN | 5.00 ~ 3000 | 3.00 16.05
3 100kN/m## 25| 1.00 ]| 000 ~ 3564| 15721 |3m%EkBZ5B| 000 ~ 1.20| 3.56 19.05 | 100kN/ %4825 | 1.00 | 1061 ~ 5933 15721 |3m&E#BZB| 3000 ~ 5933 3.56 19.05
zh st 100|364 ~ 1133 100.00 | TnLS | 1.20 ~ 11.33| 3.00 16.05 Zzh st 1.00 | 5,00 ~ 1061 100.00 | =nlst | 65,00 ~ 3000 3.00 16.05
4 100kN/m##8Z5| 1.00 ] 000 ~ 351 156.55 |3mE#BZ 5| 0.00 ~ 1.18| 8.565 18.99 | 100kN/m%E#BZ 5 | 1.00 | 1063 ~ 5813 | 156.55 |3mEBZS| 30.00 ~ 5813 3.55 18.99
Zzhnst 100|361 ~ 1129 100.00 | TS | .18 ~ 11.29| 3.00 16.05 Zzh st 1.00 | 5.00 ~ 1063 100.00 | TN | 5,00 ~ 3000 | 3.00 16.05
5 100kN/m##8Z25| 1.00 | 000 ~ 372 160.33 |3m%EBZB| 000 ~ 130\ 3.63 19.42 | 100kN/m%#BZ 5 | 1.00 | 10564 ~ 5804 160.33 |3mEBZD| 2500 ~ 5804 | 3.63 19.42
zhnst 100|372 ~ 1150 100.00 | NS | .30 ~ 1150| 3.00 16.05 zh st 1.00 | 6.00 ~ 1054 100.00 | NS | 65,00 ~ 2500 3.00 16.05
g 100kN/m##8%%5| 1.00| 000 ~ 372 160.33 |3mEBZZ| — ~ — — — | 100kN/mZ#B25 | 1.00 | 1054 ~ 5804| 160.33 |3mZE#BZS - ~ — — —
zhst 1.00| 872 ~ 1150| 100.00 | NS | 000 ~ 1150 2.68 14.37 zhst 1.00 | 6,00 ~ 1054 100.00 | NS | 6,00 ~ 5804 2.68 14.37
- 100kN/m##8Z25| 1.00| 000 ~ 381 162.01 |3mZEBZBHl — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1053 ~ 5769 | 162.01 |3mZE#BZS - ~ — — —
Zh s 1.00 | 381 ~ 1160 100.00 | ThLs | 000 ~ 1160|272 14.54 Thelst 1.00 | 5.00 ~ 1053 100.00| Fhst | 500 ~ 5769|272 14.54
s 100kN/m##8Z%5| 1.00| 000 ~ 399 16533 |3mEBZD| — ~ — — — | 100kN/mMZE#BZ25 | 1.00 | 1077 ~ 52562| 165.88 |3mZE#BZS - ~ — — —
zhst 1.00 | 899 ~ 1178 100.00 | TN | 000 ~ 11.78| 2.60 13.37 zhst 1.00 | 6,00 ~ 1077 100.00 | TnLS | 65,00 ~ 5252|250 15.37
9 100kN/m##8%Z%5| 1.00| 000 ~ 396 164.79 |3mEBZD| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1068 ~ 51.98| 164.79 |3mZE#BZ5 - ~ — — —
zhnst 1.00 | 896 ~ 1175\ 100.00 | TN | 000 ~ 11.75| 2.82 15.09 zh st 1.00 | 6,00 ~ 1068 100.00 | NS | 6,00 ~ 5198|282 15.09
10 100kN/m##8%%| 1.00| 000 ~ 360 15831 |3mEBZD| — ~ — — — | 100kN/mZE#BZ25 | 1.00 | 1056 ~ 5200| 158.81 |3mZE#BZS - ~ — — —
LS 1.00 | 860 ~ 1139 100.00 | ThLS | 000 ~ 1139 2.66 14.24 Thelst 1.00 | 5.00 ~ 1056 100.00| This | 500 ~ 5200|266 14.24
11 100kN/m##E%2%| 1.00| 000 ~ 375 160.95 |3m&EEZD| — ~ — — — | 100kN/mZE#BZ5| 1.00 | 1053 ~ 49.10| 160.95 |3mZE#BZ% - ~ — — —
Zh LS 1.00] 375 ~ 1154 100.00 | TS | 000 ~ 1154|219 11.74 Zhus 1.00 | 5.00 ~ 1053 100.00| Ths | 500 ~ 4910|219 11.74
12 100kN/m#%#8%%| 1.00| 000 ~ 375 160.94 |3mEBZD| — ~ — — — | 100kN/mZ#BZ25 | 1.00 | 1053 ~ 4692 | 160.94 |3mE#BZS — ~ — — —
Zh LS 1.00] 375 ~ 1154 100.00 | TS | 0.00 ~ 1154|220 11.78 Zhus 1.00 | 5.00 ~ 1053 100.00| Ths | 500 ~ 4692|220 11.78
19 100kN/m%#8%2%| 1.00| 000 ~ 376 161.03 |3mEBZZ| — ~ — — — | 100kN/mZE#BZ5| 1.00 | 1057 ~ 4210 161.03 |3mZE#BZ% - ~ — — —
Zh LS 100|376 ~ 1154 100.00 | TS | 000 ~ 1154| 1.81 9.69 Zhus 1.00 | 5.00 ~ 1057 100.00| Ths | 500 ~ 4210| 1.81 9.69
14 100kN/m##E%2%| 1.00| 000 ~ 365 1569.11 |3m&EEZD| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1055 ~ 3869 159.11 |3mZE#BZ% - ~ — — —
L 1.00 | 365 ~ 1143 100.00 | 0L | 0.00 ~ 11.43] 1.80 9.63 Lt 1.00 | 6,00 ~ 1055 100.00 | =0 | 5.00 ~ 3869 1.80 9.63
. 100kN/mM%#EZ % — - ~ — —|3mZzEZZ]| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3mEFEBZD - ~ — — —
Zhst — - ~ — —| Zhst - ~ — — — ZhLLs — — ~ — — | ZhList — ~ — —
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16 100kN/m##8%%5| 1.00| 000 ~ 305 14852 |3mEBZB| — ~ — — — | 100kN/m%#BZ 5| 1.00 | 10564 ~ 2794 14852 |3mE#BZS - ~ — — —
ZThst 100|505 ~ 1083| 100.00| Fns | 000 ~ 1083 1.75 9.58 Zzh st 1.00|5.00 ~ 1054 100.00 | TnLS | 500 ~ 2794|1.75 9.38
17 100kN/m##8%%5| 1.00| 000 ~ 250 13923 |3ImEBZB| — ~ — — — | 100kN/mMZE#BZ25 | 1.00 | 1065 ~ 2300| 139.23 |3mZE#BZ5 - ~ — — —
Zhnst 1001250 ~ 1029 100.00| FThLS | 000 ~ 000|171 9.17 Zzh st 1.00 | 5.00 ~ 1065 100.00 | TnLS | 5.00 ~ 2300|1.71 9.17
19 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zh st — — ~ — —| = st - ~ — — — Zzh st — - ~ — — | #h st — ~ — — —
100kN/mM#%#BZ % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ Zhn s ~ Zzh st ~ ZzhnLs ~
100kN/mM#%#BZ % ~ ImEBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
zhnst ~ zhn s ~ zh st ~ ZzhnLs ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhLs ~ zh st ~ zhLst ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
LS ~ ZN LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZNLs ~ ZTh Lot ~ LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZN LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZN LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ ZNLs ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zhst ~ Zh s ~ ZhLLs ~ Zh LS ~
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